
Quest ce que le cadeau  C' - ? ( )Quel nombre se trouve dans chaque cadeau?
37 + 49 = 14 + 32 = 45 + 48 =31 + 95 = 27 + 96 = 31 + 59 =59 + 24 = 18 + 81 = 68 + 66 =60 + 71 = 63 + 61 = 36 + 82 =47 + 43 = 42 + 76 = 51 + 23 =72 + = 96 39 + = 78 88 + = 16399 + = 130 95 + = 184 2 + = 5035 + = 53 12 + = 58 17 + = 8062 + = 120 98 + = 109 63 + = 8248 + = 68 34 + = 58 57 + = 64+ 72 = 159 + 92 = 181 + 27 = 33+ 29 = 66 + 73 = 129 + 31 = 107+ 89 = 162 + 72 = 91 + 9 = 27+ 26 = 73 + 51 = 114 + 7 = 30+ 26 = 78 + 43 = 116 + 78 = 88
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Quest ce que le cadeau  C  Solutions' - ? ( )Quel nombre se trouve dans chaque cadeau?
37 + 49 = 86 14 + 32 = 46 45 + 48 = 9331 + 95 = 126 27 + 96 = 123 31 + 59 = 9059 + 24 = 83 18 + 81 = 99 68 + 66 = 13460 + 71 = 131 63 + 61 = 124 36 + 82 = 11847 + 43 = 90 42 + 76 = 118 51 + 23 = 7472 + 24 = 96 39 + 39 = 78 88 + 75 = 16399 + 31 = 130 95 + 89 = 184 2 + 48 = 5035 + 18 = 53 12 + 46 = 58 17 + 63 = 8062 + 58 = 120 98 + 11 = 109 63 + 19 = 8248 + 20 = 68 34 + 24 = 58 57 + 7 = 6487 + 72 = 159 89 + 92 = 181 6 + 27 = 3337 + 29 = 66 56 + 73 = 129 76 + 31 = 10773 + 89 = 162 19 + 72 = 91 18 + 9 = 2747 + 26 = 73 63 + 51 = 114 23 + 7 = 3052 + 26 = 78 73 + 43 = 116 10 + 78 = 88
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